Subject: AK example and/or key_source bug?
Posted by rainbowsally on Fri, 19 Dec 2014 14:04:34 GMT

View Forum Message <> Reply to Message

Using Linux.

In the AK demo/example where we input new key bindings for the menu selections, when | enter
Ctrl-1 for the key to trigger the first menu item using the top row keys on my keyboard the code
isn't right. When | use the '1' on the keypad it is.

The demo works, but the encoding doesn't.

Number '2' encodes and decodes correctly in the top row keys. | could’'nt see where the problem
was coming from -- just guessing it's a key table.

Sorry if this has been addressed already. There's a LOT of material here.

)

Also, when | change the language to Czech, only the second menu item changes.
[Edited...]

| see now that this is (apparently?) intentional.

KEY(FN1, "First function", K_CTRL_M)
KEY(FN2, t_("Second function”), K_CTRL_W)

KEY(EXIT, t_("Exit"), K_CTRL_Q)

FN1 doesn't get translated.

Good hacking exercise. :) But the key encoding.. that's a bit advanced.
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